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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 
%UÔX›◊Tˆ ( Economics ) 

B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

Yá˚] Yy ( 5th Paper : International Trade & 
Development Economics ) 

a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) =Y^«N˛ V rÙÁ‹ôˆac˜ ªJÙÃ[˝] [˝ÓÃ^ YÁUÔEıÓ A[˝e T«ˆ_XÁ]…_Eı 

[˝ÓÃ^ YÁUÔ„EıÓÃ[˝ X›◊Tˆ V«◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X A[˝e 

◊Eı\ˆÁ„[˝ %Á‹ôˆL¤Á◊TˆEı [˝Á◊S„LÓÃ[˝ ◊\ˆ◊w¯ Ã[˝÷„Y Ac˜O 

W˝ÁÃ[˝SÁV«◊ªRÙO„Eı ◊[˝„[˝ªJÙXÁ EıÃ[˝Á ^ÁÃ^ TˆÁ [˝ÓÁFÓÁ EıÃ[˝”X* 

   10 + 10 

 (F) =dYÁV„XÃ[˝ =YEıÃ[˝„SÃ[˝ VÁ„]Ã[˝ a]TˆÁ Tˆ√º¯◊ªRÙO [˝ÓÁFÓÁ 

EıÃ[˝”X* 20 

 (G) (i) %Á‹ôˆL¤Á◊TˆEı [˝Á◊SLÓ ÂU„Eı =‡…ˆTˆ _Á\ˆm◊_Ã[˝ 

%ÁÃ^TˆX ◊XW˝ÔÁÃ[˝SEıÁÃ[˝› ◊[˝bÃ^m◊_„Eı ae„l˘„Y 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 8 

  (ii) ◊Eı\ˆÁ„[˝ %Á‹ôˆL¤Á◊TˆEı [˝Á◊SLÓ ÂU„Eı =‡…ˆTˆ 

_Á\ˆm◊_„Eı =dYÁVXL◊XTˆ _Á\ˆ A[˝e 

Â\ˆÁGL◊XTˆ _Á\ˆ Ã[˝÷„Y ◊[˝\ˆN˛ EıÃ[˝Á ^ÁÃ^ TˆÁ 

[˝ÓÁFÓÁ EıÃ[˝”X* 6 + 6 

 (H) V rÙÁ‹ôˆac˜ W˝XÁ±¡Eı C @SÁ±¡Eı [˝Á◊c˜ÓEıTˆÁ A[˝e 

=dYÁVX C Â\ˆÁ„GÃ[˝ CYÃ[˝ A W˝Ã[˝„XÃ[˝ [˝Á◊c˜ÓEıTˆÁm◊_Ã[˝ 

Zı_ÁZı_ a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 5 + 5 + 5 + 5 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) =dYÁV„XÃ[˝ =YEıÃ[˝„SÃ[˝ %Á◊W˝„EıÓÃ[˝ aep˚Á Ã[˝÷„Y B 

=YEıÃ[˝„SÃ[˝ [˝ÿô«ˆGTˆ Y◊Ã[˝]ÁS ◊\ˆ◊w¯Eı aep˚Á A[˝e VÁ] 

◊\ˆ◊w¯Eı aep˚ÁV«◊ªRÙO %Á‹ôˆL¤Á◊TˆEı [˝Á◊SLÓ aey‘Á‹ôˆ 

Âc˜EÀı∏JÙÁÃ[˝-C◊_X Tˆ√º¯ %X«^ÁÃ^› %Á„_ÁªJÙXÁ EıÃ[˝”X* 

  6 + 6 
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(F) (i) ∫RÙO_YÁÃ[˝-aÓÁ]«„Ã^_aX Tˆ√º¯◊ªRÙO ae„l˘„Y %Á„_ÁªJÙXÁ 

EıÃ[˝”X*  

 (ii) Â]ªRÙOLÀ_ÁÃ[˝ E…ıªRÙOÁ\ˆÁa◊ªRÙO ae„l˘„Y %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 6 + 6 

(G) (i) EıÃ[˝ %Á„Ã[˝ÁY EıÃ[˝Á aey‘Á‹ôˆ ◊_≥QˆÁ„_Ã[˝ 

◊[˝‰`¿bSE ıTˆ a«◊[˝W˝ÁÃ[˝ X›◊Tˆ◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (ii) AEı◊ªRÙO Y„Ã[˝Ál˘ Eı„Ã[˝Ã[˝ Â[˝ÁMıÁÃ[˝ aá˚Á_X 

◊XW˝ÔÁÃ[˝SEıÁÃ[˝› ◊[˝bÃ^m◊_ ◊Eı ◊Eı ? 8 + 4 

(H) (i) AEı◊ªRÙO Y„Ã[˝Ál˘ Eı„Ã[˝Ã[˝ Âl˘‰y ◊Eı\ˆÁ„[˝ %◊Tˆ◊Ã[˝N˛ 

Â[˝ÁMıÁ a ◊rÙ c˜Ã^ TˆÁ [˝ÓÁFÓÁ EıÃ[˝”X* 

 (ii) ]…_W˝X› _Á\ˆ„Eı %ÁY◊X %ÁÃ^ Ã[˝÷„Y ◊[˝„[˝ªJÙXÁ 

EıÃ[˝„Tˆ YÁ„Ã[˝X ◊Eı ? ^◊V TˆÁc˜O c˜Ã^, %ÁY◊X 

A◊ªRÙO„Eı %Á„Ã^Ã[˝ ◊c˜aÁ„[˝Ã[˝ %‹ôˆ\«ˆ¤N˛ EıÃ[˝„[˝X ◊Eı ? 

%ÁYXÁÃ[˝ =w¯„Ã[˝Ã[˝ ÿëˆY„l˘ ^«◊N˛ Y“VÁX EıÃ[˝”X* 

   8 + 4 

(I¯) EıÃ[˝ A[˝e aÃ[˝EıÁÃ[˝› @„SÃ[˝ Zı_ÁZı„_Ã[˝ ]„W˝Ó T«ˆ_XÁ 

EıÃ[˝”X* A V«◊ªRÙOÃ[˝ ]„W˝Ó ÂEıÁXÀ◊ªRÙO„Eı %ÁY◊X YªK˜≥V Eı„Ã[˝X 

A[˝e ÂEıX ? 

(ªJÙ) (i) AEı◊ªRÙO EıÁî◊XEı =VÁc˜Ã[˝„SÃ[˝ aÁc˜Á„^Ó Â_X„VX 

=• „w¯Ã[˝ ◊c˜aÁ[˝„Eı ]…_W˝X› FÁTˆ A[˝e ªJÙ_◊Tˆ 

FÁTˆ — Ac˜O V«c˜O \ˆÁ„G Ê`“S›◊[˝\ˆÁG EıÃ[˝”X A[˝e 

[˝ÓÁFÓÁ EıÃ[˝”X* 

 (ii) ""Â_X„VX =• „w¯ a[˝ÔVÁc˜O a]TˆÁ %Á„a*''     

— Ac˜O ◊[˝[˝ ◊Tˆ◊ªRÙOÃ[˝ TˆÁdY^Ô ◊[˝ªJÙÁÃ[˝ EıÃ[˝”X* 8 + 4 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) Â_X„VX =• „w¯ a]TˆÁ Ã[˝l˘ÁEıÁÃ[˝› ÿëˆÃ^e◊y‘Ã^ C 

a]XüÃ^EıÁÃ[˝› Â_X„VX-AÃ[˝ ◊[˝bÃ^m◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(F) l«˘V– A[˝e [˝ c˜d ÂV`m◊_Ã[˝ ]„W˝Ó %Á‹ôˆL¤Á◊TˆEı [˝Á◊SLÓ 

ÂU„Eı =‡…ˆTˆ _Á\ˆm◊_ ◊Eı\ˆÁ„[˝ [˝≥RÙOX EıÃ[˝Á c˜Ã^ ? 

(G) AEı◊ªRÙO AEı‰ªJÙ◊ªRÙOÃ^Á EıÁÃ[˝[˝ÁÃ[˝› ZıÁ„]ÔÃ[˝ Âl˘‰y ]…_ÓÁX«^ÁÃ^› 

EıÃ[˝ W˝Á„^ÔÃ[˝ Zı_ÁZı_ ◊[˝ªJÙÁÃ[˝ EıÃ[˝”X* 

(H) aá˚„Ã^Ã[˝ CYÃ[˝ %ÁÃ^Eı„Ã[˝Ã[˝ Zı_ÁZı_ ◊[˝ªJÙÁÃ[˝ EıÃ[˝”X* 

(I¯) aÃ[˝EıÁÃ[˝› (%UÔÁd aÁ]Á◊LEı) V–[˝Óm◊_Ã[˝ È[˝◊`rÙÓa]…c˜ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 

(ªJÙ) ""AEı◊ªRÙO %\ˆÓ‹ôˆÃ[˝›S aÃ[˝EıÁÃ[˝› @S LXG„SÃ[˝ CYÃ[˝ 

ÂEıÁ„XÁ Â[˝ÁMıÁ ªJÙÁYÁÃ^ XÁ*'' — ◊[˝[˝ ◊Tˆ◊ªRÙO ◊[˝ªJÙÁÃ[˝ EıÃ[˝”X* 

(ªK˜) AEı◊ªRÙO ◊X◊V¤rÙ %ZıÁÃ[˝ ÂÃ[˝FÁ [˝Ã[˝Á[˝Ã[˝ B %ZıÁÃ[˝ ÂÃ[˝FÁÃ[˝ 

◊[˝◊\ˆ~ ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁ ◊[˝ªJÙÁÃ[˝ EıÃ[˝”X* 

(ªL˜) ^«N˛Ã[˝Ár—Ù›Ã^ Ã[˝ÁLÿëˆ [˝Ó[˝ÿöˆÁÃ^ %X«\…ˆ◊]Eı %a]TˆÁ A[˝e 

={∂ëˆ %a]TˆÁÃ[˝ W˝ÁÃ[˝SÁV«◊ªRÙO ae„l˘„Y %Á„_ÁªJÙXÁ EıÃ[˝”X* 

  3 + 3 
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English Version 

1. Answer any two questions : 20 × 2 = 40 

(a) Discuss the concepts of absolute and 

comparative differences in costs with 

suitable examples and explain how these 

can be considered as the basis of the origin 

of international trade. 10 + 10 

(b) Explain the Factor Price Equalisation 

theorem. 20 

(c) (i) Discuss in brief, the factors governing 

the size of gains from international 

trade. 8 

 (ii) Explain how the gains from 

international trade may be divided 

into consumption gains and 

production gains. 6 + 6  

(d) Discuss the positive and negative 

externalities with examples and their effects 

on production and consumption. 

  5 + 5 + 5 + 5  

2. Answer any three questions  : 12 × 3 = 36 

(a) Discuss the physical definition and price 

definition of factor abundance as observed 

in the Heckscher-Ohlin model of 

international trade. 6 + 6 

(b) (i) Explain in brief, the Stolper-

Samuelson theorem.  

 (ii) Explain in brief, the Metzler Paradox. 

   6 + 6 

(c) (i) Discuss Lindahl's analysis of benefit 

approach to taxation. 

 (ii) What factors govern the shifting of 

burden of an indirect tax ? 8 + 4 

(d) (i) Explain how there occurs an excess 

burden of an indirect tax. 

 (ii) Can you consider capital gains as 

income ? If so, will you recommend to  

include it within the estimate of 

income ? Give arguments for your 

answer. 8 + 4 
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(e) Compare the effects of taxation and 

borrowing by the government. Which of 

these two do you prefer and why ? 

(f) (i) Classify and explain the Balance of 

Payments Account into Capital and 

Current Accounts with the help of an 

imaginary example. 

 (ii) "Balance of Payments always 

balances." Examine the significance of 

this statement. 8 + 4 

3. Answer any four questions  : 6 × 4 = 24 

(a) Discuss the autonomous and 

accommodating items in maintaining 

equilibrium in the balance of payments. 

(b) How are gains from international trade 

distributed between small countries and 

large countries ? 

(c) Examine the effects of imposition of an Ad 

Valorem Tax in case of a monopoly firm. 

(d) Examine the effects of income tax upon 

savings. 

(e) Discuss the characteristics of Public        

(i.e. social) goods.  

(f) "An internally held public debt imposes no 

burden on the community." Examine the 

statement. 

(g) Examine the different elasticities of the 

offer curve along the same offer curve.  

(h) Discuss in brief, the 'horizontal' and 

'vertical' fiscal imbalances in the federal 

system of revenue. 3 + 3 

    


